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WY ; 3 e AT PET  UYT HTT [§=<l [06 H] BINIRERY] 3(ch:125
fro.avg TRV TG TS | sfirafaa TR TanY| o®
afr | sw @S 49| af. | e |3, @.3. . 3.
13j@ || 130 | 23 | 38/ | 43w | 13@ | 130@ | 2316 | 33f® | 48/ | 190F | 29/F | 3si® | 4306 | 53 |33 |a3iw
TE] HI :-
1. 3fehedl direr (1)4* 1 4
25941 el § (1)1 (1)3 2 4
3 . T e (i (1)1{(1)2 3 | 4
4. 311 % 8o {131} [1)2 (1)1](1)2 4 6
5. S/ IR (1)1 (1)3 2 4
6.5, Gal. T, 3R e (1)4* il 4
7. Wl 7 adtel (1)1 (1)3 2 4
.U g o sl (1)1 (1)3 5 4
9, A@ta (12 (12 2 4
10T & TT (1)2 (1)2 2 4
11, el oH (1)4* 1 4
12, U& SSRGS (1)2 ()3 2 5
TEL I :- 24 | 31
1, R G A 3w {(1)3 (12 2 5
2. foet et ()L (1)2 2 | 3
3. 9lla U (1)4 (1)1 2 £
1. 31 78 frafor 6y (1)2 (1)2 2 | 4
5. SfadhHered] & ae Mma] 1 4
6. TR 3BT T 4 faeft el (1)2f (1)3 2 5
7. 408 (D1 (1)1 (1)3 3 5
Qe AT 14 | 10
1. U1 & Amfera (1)1 (1)1 % 2
2. UReFRHCIbIG S & (1)1 (1)2 2 3
|3 IS (1)2 1 2
4.5¢ Bl e (1)2 1 2
5. Sl &R Wi T § (1)1 1 1
RiEZul (1)10 (4)1 (2)3 16 | 20
el (1)5 (1)3 (1)5 3 |13
T I 31 46 44 4 | 64 | 125




v. 3 f4aTor: 7e)-51, UI-31, TP dT9+-10 SHTHU1-20,341-13

B9 Ul & UPR T[99 R&BATT B | = oyl
1 g [ddhedd Uy 10 10
2 ERICEEGIERI] 4 4
3 Teh g H 31X 8x1 ax1 ax1 16
4 3-4 9] H TR 8x2 5x2 3x2 32
5 5-6 ATl H 31T 4x3 2x3 18
6 wid URTY 1x3 1x3 6
7 oq 1x3 3
8 3TBR 1x3 3
RCEEE P 3 3
I EEIGECR) ax1 4
T EEEIE ax1 4
12 |8-10 910 H IR 4x3 12
13 |0 o 5 5
14 PECESICE] 5 5
51 31 10 20 13 125
1. Ul BT EE W 3 UR (weightage to Type of question)
wY (UMD UDR T, 3T 3 El
1 og fddedi™ 10 1 10
2 TRIR TR 4 1 4
3 THh g 3T 16 1 16
4 2-3 9] H I 16 2 32
5 " IR 11 3 33
6 Y IR 5 4 20
7 Y I 5 10
o 64 125




